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On interlace:

Consider 128 words of memory in 2 banks of 64 words each.

With no ¥ interlace, the seven bit address is broken up as

follows:
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and addresses would be assigned as follows:
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The simplest, most straightforward interlace scheme 1s done

by reinterpreting the seven bit address, as per:
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with the result that all even-numbered addresses fall in the

bank numbered zero, and odd-ntmbered addresses fdl in bank one.
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and addresses are assigned as follows:
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This scheme has the difficulty that all addresses which are
multiples of 2 (and therefore 8, and 64) fall in the same
bank of memory. All pages would begin ¥ in the same bank,
and all GIOC mallbox addresses would fall in the same bank.
(Since GIOC/s set mailboxes to Mhe nearest Omod64 address.)
And all GIOC interrupts would be directed to the same bank

of memory, and thus to the same CPU.

The GE interlace scheme results in the following address

agsignment:
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Note that with this scheme, the first 64-word page 1s based in

bank zero, while the second page 1s based in bank one.

Exerclgse: deduce hardware lagic with above result. 'f&ﬁj(ji’




